@ns

since 1975

LOADMASTER ASSEMBLY INSTRUCTIONS

1: M8 x 150mm Coach Bolt
2: M8 x 110mm Coach Bolt
3: M8 x 80mm Coach Bolt
4: M8 x 40mm Coach Bolt
5: M8 x 30mm Coach Bolts
6: M8 Hex Nut

AXLE BRACKET

HANDLE

A P.O. Box 11062, Hamilton 3251, New Zealand
Iver' ea Ph +64 (7) 847 0204, Fx +64 (7) 847 0205
E-mail sales@riverleagroup.co.nz
Group Ltd

23/07/2018_V1.01



wheelbarrows I
Gheens ~ PRiveriea

since 1975

LOADMASTER ASSEMBLY INSTRUCTIONS

IMPORTANT: Only FINGER TIGHTEN NUTS during assembly.

NSO RwN =

17.

18.

Riverlea Group Ltd Wedges
P.O. Box 11062, Hamilton 3251, New Zealand
Ph +64 (7) 847 0204, Fx +64 (7) 847 0205 Tray Braces

Place tray upside down on a bench .

Insert the 110 and 150mm coach bolts into brackets on bottom of tray.

Place the shock board over bolts.

Place both tray braces over bolts.

Place wedges over bolts with the thicker end towards the front of wheelbarrow.

Place handles over the bolts using the two holes closest to hand grips.

Place Leg frame over the bolts, the sharper angle facing back of barrow.

Fit washers and nuts to each bolt.

Insert 30mm coach bolts into brackets at front of tray

Place front stay bracket over both bolts.

Place front stays over bolts, the sharper angle pointing up.

Fit washers and nuts to each bolt.

Line up holes on front stays with holes on handles furthest from hand grips.

Put 80mm coach bolts down through holes and fit washers and nuts.

Put front guard over the ends of the handles, line up holes in guard with holes in handles and put
80mm coach bolts through front holes from top of handles. Fit washers and nuts.

Place axle through centre of wheel and axle brackets on each end. Lower wheel into space between
handles and line axle brackets up with holes in front guard and handles.

Put 80mm coach bolts up through handles, front guard and brackets and fit washers and nuts. Adjust
brackets so wheel sits centrally between handles and spins freely.

Tighten all nuts starting with axle brackets.

Leg Frame

Front Stays

Hardware Pack

Axle

Wheel

Shockboard

Front Guard

E-mail sales@riverleagroup.co.nz

Packed by: Date:

23/07/2018_V1.01




